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2. Tsunsunpudeesmussouzvesszuumyhnmuiuuugada

fprintf{*input Evaporator solution temperture(C)\n");
T_Evap=input('T_Evap ="),
fprintf('input Q_ Evap (kW)\n");
Q_Evap=input('Q Evap=");
% START T_Gen
for T_Abs=25:1:50
for T_Cond=29:1:50
for T _Gen=62:1:177
a_Gen=((1.97668*10"-5)*T_Cond)-(7.960030296*10"-4);
b _Gen=-+((3.13336*10"-3)*T_Cond)+0.1524515179;
¢_Gen=(0.16976*T_Cond)-7.72503872;
d Gen=125.0789441-T _Gen-(2.00755*T_Cond);
G _Gen=[a_Genb_Gen ¢_Gen d_Gen];
roots(G_Gen);
F Gen=ans;
for k=1:1:3
if F Gen(k)<200&F Gen(k)>44
X Gen=F Gen(k);
else
end
end
a_Abs=((1.97668*107-5)*T_Evap)-(7.960030296*10*-4);
b_Abs=-((3.13336*107-3)*T_Evap)+0.1524515179;
c_Abs=(0.16976*T_Evap)-7.72503872;
d_Abs=125.0789441-T Abs-(2.00755*T_Evap);
G_Abs=[a_Absb Absc Absd Abs];
roots(G_Abs);
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F_Abs=ans;
for k=1:1:3
if F_Abs(k)<200&F_Abs(k)>44
X_Abs=F_Abs(k);
else
end

end

A_Gen=-2.00755+(0.16976*X_Gen)~(3.13336%(10"-3)*(X_Gen"2))+(1.97668*(10-
5)%(X_Gen™3));
B_Gen=321.128-(19.322*X_Gen)+(3.74382*(10"-1)*(X_Gen"2))~(2.0637*(107-3)*(X_Gen"3));
C_Gen=-1015.07+(79.5387*X_Gen)-(2.358016*(X_Gen"2))+(0.0303158*(X_Gen*3))-
(1.40026*(107-4)%(X_Gen™4));

D _Gen=4.6811-(0.30378*X_Gen)+(8.4485*(10~-3)*(X_Gen"2))-(1.0477*(10"-

AP (X_Gen3)+(4.8*(10~-7)*(X_Gen4));
E_Gen=(-4.9*10"-3)}+(3.83*X_Gen*(10"-4))-(1.08*(10-5)*(X_Gen 2))+(1.315*(10"-
T)*(X_Gen”3))~(5.9*(10-10)*(X_Gen™4));

h Gen=C _Gen+(D_Gen*((1.8*T_Gen)+32))+(E_Gen*((1.8*T_Gen)+32)"2);

A Abs=-2.00755+(0.16976*X_Abs)-(3.13336*(10"-3)*(X_Abs*2))+(1.97668*(10"-
5)*(X_Abs3));

B _Abs=321.128-(19.322*X_Abs)+(3.74382*(10"-1)*(X_Abs"2))-(2.0637*(10"-3)*(X_Abs"3));
C_Abs=-1015.07+(79.5387*X_Abs)~(2.358016*(X_Abs"2))+(0.0303158*(X_Abs"3))-
(1.40026*(107-4)*(X_Abs 4));
D_Abs=4.6811-(0.30378*X_Abs)+(8.4485*(10"-3)*(X_Abs*2))-(1.0477*(10"-
4Y(X_Abs"3)H(4.8*(107-7)*(X_Abs 4));
E_Abs=(-4.9%10"-3)+(3.83*X_Abs*(10"-4))-(1.08*%(10"-5)*(X_Abs*2))+(1.315*(10"-
TI*(X_Abs”3))-(5.9%(107-10)*(X_Abs™4));
h_Abs=C_Abs+(D_Abs*((1.8*T_Abs}+32))HE_Abs*((1.8*T_Abs)}+32)*2);
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for k=1:1:76
if T _Gen== Entropy(k,1)
h_3=Entropy(k,4);
P_3=Entropy(k,2);
elseif T_Gen>Entropy(k,1)&T_Gen<Entropy(k+1,1)
h_3=((T_Gen-Entropy(k,1))*(Entropy(k+1,4)-Entropy(k,4)))/(Entropy(k+1,1)-
Entropy(k, 1)+Entropy(k,4);
P 3=((T_Gen-Entropy(k,1))*(Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k+1,1)-
Entropy(k,1))+Entropy(k,2);

else

end

if T _Evap=Entropy(k,1)
h 5=Entropy(k,4);
P_5=Entropy(k,2);
elseif T Evap>Entropy(k,1)&T Evap<Entropy(k+1,1)
h 5=((T_Evap-Entropy(k, 1))*Entropy(k+1,4)-Entropy(k,4)))/(Entropy(k+1,1)-
C Entropy(k,1)+Entropy(k,4);
P_5=((T_Evap-Entropy(k,1))*(Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k+1,1)-
Entropy(k, 1))+ Entropy(k,2);

else

end
if T Cond== Entropy(k,1)
h_4=Entropy(k,3);
P_4=Entropy(k,2);
elseif T Cond>Entropy(k,1}&T Cond<Entropy(k+1,1)
h_4=((T_Cond-Entropy(k,1))*(Entropy(k+1,3)-Entropy(k,3)))/(Entropy(k+1,1)-
Entropy(k,1)+Entropy(k,3);

G



P_4=((T_Cond-Entropy(k,1))*(Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k+1,1)-

Entropy(k,1))+Entropy(k,2);
else

end

end

X 2=X Gen;
X 1=X Abs;
h_1=h Abs;
h 2=h Gen;
m_5=Q_Evap/(h_5-h 4);
m 4=m_35;
m 3=m 4;
m_2=m_S5A((X_2/X _1)-1));
m_l=m 2+m 5;
Q_Gen=(m_3*h_3)}+(m_2*h 2)}-(m_1*h 1);
Q Cond=(m_3*h 3)-(m 4*h_4);
Q_Abs=(m_2*h 2)H(m_5*h_5}(m 1*h_1);
Q Evap=(m_5*h _5)-(m 4*h 4);
COP_abs=Q Evap/Q Gen;
A(1,T_Gen)=T Gen;
A(2,T_Gen)=COP_abs;
A(3,T Gen)=m_1;
G=0;
end
for n=62:1:177
if (G<A(2,n))&(A(3,n)>0)
G=A(2,n);
T_Gen=A(1,n);
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else
end
end
B(T_Abs,T Cond)=T Gen;
C(T_Abs,T Cond)=COP_abs;
end
end
G=100;
F=0;
for n=10:1:50
for m=29:1:50
if G>B(n,m)&F<C(n,m)
T _Gen=B(n,m);
else
end
end
end
% ENDT _Gen
% START T_Abs
for T Cond=29:1:50
for T Abs=25:1:50

a_Gen=((1.97668*10"-5)*T_Cond)-(7.960030296*10"-4);

b_Gen=-((3.13336*10-3)*T_Cond}+0.1524515179;
¢_Gen=(0.16976*T Cond)-7.72503872;
d_Gen=125.0789441-T_Gen-(2.00755*T_Cond);
G_Gen=[a_Genb_Gen ¢_Gen d_Gen];
roots(G_Gen);
F_Gen=ans;

for k=1:1:3

if F_Gen(k)<200&F_Gen(k)>44
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X _Gen=F_Gen(k);
else
end
end
a_Abs=((1.97668*107-5)*T Evap)-(7.960030296*10-4);
b_Abs=-((3.13336*107-3)*T_Evap)+0.1524515179;
c_Abs=(0.16976*T_Evap)-7.72503872;
d_Abs=125.0789441-T Abs-(2.00755*T_Evap);
G_Abs=[a_Absb Absc Absd Absl;
roots(G_Abs);
F_Abs=ans;
for k=1:1:3
if F_Abs(k)<200&F _Abs(k)>44
X_Abs=F Abs(k);
else
end

end

A Gen=-2,00755+(0.16976*X_Gen)-(3.13336*(10"-3)*(X_Gen2)}+(1.97668*(10~-
5)*(X_Gen"3));
B_Gen=321.128-(19.322*X_Gen)+(3.74382*(107-1)*(X_Gen”2))-(2.0637*%(10"-3)*(X_Gen"3));
C_Gen=-1015.07+(79.5387*X_Gen)-(2.358016*(X_Gen’2))+(0.0303158*(X_Gen"3))-
(1.40026*(10"-4)%(X_Gen™4));
D_Gen=4.6811-(0.30378*X_Gen)+(8.4485%(10A-3)*(X_Gen"2))-(1.0477*(10"
A)*(X_Gen™3)H+(4.8*(107-7)*(X_Gen™4));
E_Gen=(-4.9%¥10"-3)+(3.83*X_Gen*(10"-4))-(1.08*(10"-5)*(X_Gen"2)+(1.315*(10"-
T*(X_Gen*3))~(5.9%(10%-10)*(X_Gen"4));

h Gen=C_Gen+(D_Gen*((1.8*T_Gen)+32)HE_Gen*((1.8*T_Gen)}+32)"2);



A_Abs=-2.00755+0.16976*X_Abs)-(3.13336*(10"-3)*(X_Abs"2))+(1.97668*(10"-
5y%(X_Abs™3));

B_Abs=321.128-(19.322*X_Abs)}+(3.74382*(10"-1)*(X_Abs"2))-(2.0637*(10"-3)*(X_Abs"3));

C_Abs=-1015.07+(79.5387*X_Abs)-(2.358016*(X_Abs"2)H(0.0303158*(X_Abs"3))-
(1.40026%(10"-4)*(X_Abs"4));

D Abs=4.6811-(0.30378*X Abs)+(8.4485*(10"-3)*(X_Abs*2))-(1.0477*(10"

4K (X_Abs"3)HH4.8*(107-7)*(X_Abs™));
E_Abs=(-4.9*10"-3)+(3.83*X_Abs*(107-4))-(1.08*(10"-5)*(X_Abs 2)}H(1.315*(10"-
TIHX_Abs*3))-(5.9%(10~-10)%(X_Abs 4));

h_Abs=C Abs+H(D Abs*((1.8*T AbsH32)H(E_Abs*((1.8%T_Abs}32)"2);

for k=1:1:76
if T Gen==Entropy(k,1)
h_3=Entropy(k,4);
P _3=Entropy(k,2);
elseif T Gen>Entropy(k,1)&T_Gen<Entropy(k+1,1)
h 3=((T_Gen-Entropy(k,1))*(Entropy(k+1,4)-Entropy(k,4)))/(Entropy(k+1,1)-
Entropy(k, 1))+Entropy(k,4);
'S P 3=((T_Gen-Entropy(k,1)*(Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k+1,1)-
Entropy(k,1))}+Entropy(k,2);

else

end

if T Evap== Entropy(k,1)
h_5=Entropy(k,4);
P_5=Entropy(k,2);
elseif T Evap>Entropy(k,1)&T Evap<Entropy(k+1,1)
h_5=((T_Evap-Entropy(k,1))*(Entropy(k+1,4)-Entropy(k,4)))/(Entropy(k+1,1)-
Entropy(k,1))+Entropy(k,4);
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P_5=((T_Evap-Entropy(k,1))* (Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k+1,1)-
Entropy(k,1))+Entropy(k,2);

else

end
if T Cond= Entropy(k,1)
h_4=Entropy(k,3);
P_4=Entropy(k,2);
elseif T_Cond>Entropy(k,1)&T_Cond<Entropy(k+1,1)
h_4=((T_Cond-Entropy(k,1))*(Entropy(k+1,3)-Entropy(k,3)))/(Entropy(k+1,1)-
Entropy(k,1))+Entropy(k,3);
P _4=((T_Cond-Entropy(k,1))*(Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k+1,1)-
Entropy(k,1))+Entropy(k,2);

else

end

end

X 2=X Gen;

X 1=X_Abs;

h_1=h Abs;

h_2=h Gen;

m_5=Q Evap/(h_5-h 4);
m_4=m_5;

m_3=m_4;

m_2=m S5/((X_2/X_1)-1));
m_I=m 2+m 5;
Q_Gen=(m_3*h_3)+(m _2*h_2)-(m_1*h_l1);
Q _Cond=(m_3*h_3)-(m_4*h_4);



Q_Abs=(m_2*h 2)+(m_5*h 5)-(m_1*h 1);

Q_Evap=(m_5*h_5)-(m_4*h 4);
COP_abs=Q Evap/Q Gen;
N(I,T_Abs)=T Abs;
N(2,T_Abs)=COP_abs;
N(3,T_Abs}=m 1;

G=0,

G=0;
for n=25:1:50
if (G<N(2,n))&(N(3,n)>0)
G=N(2,n);
T _Abs=N(1,n);
else
end
end
B(T_Cond,T_Abs)=T_ Abs;
C(T_Cond,T _Abs)=COP_abs;
end
G=100;
F=0;
for n=29:1:50
for m=25:1:50
if G>B(n,m)&F<C(n,m)
T_Abs=B(n,m);
=C(n,m);
else
end
end

end
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% End T_Abs
% START T Cond
for T Cond=29:1:50
a_Gen=((1.97668*10~-5)*T Cond)-(7.960030296*10"-4),
b_Gen=-((3.13336*10~-3)*T _Cond)+0.1524515179;
¢_Gen=(0.16976*T Cond)-7.72503872;
d_Gen=125.0789441-T Gen-(2.00755*T_Cond);
G _Gen=[a_Genb_Gen ¢_Gen d_Gen];
roots{(G_Gen);
F_Gen=ans;
for k=1:1:3
if F Gen(k)<200&F Gen(k)>44
X _Gen=F_Gen(k);
else
end
end
a_Abs=((1.97668*107-5)*T_Evap)-(7.960030296*10"-4);
b_Abs=-((3.13336*10°-3)*T_Evap)+0.1524515179;
c_Abs=(0.16976*T_Evap)-7.72503872;
d_Abs=125.0789441-T Abs-(2.00755*T Evap);
G_Abs=[a_Absb Absc_Abs d Abs];
roots(G_Abs);
F_Abs=ans;
for k=1:1:3
if F_Abs(k)<200&F _Abs(k)>44
X_Abs=F_Abs(k);
else
end

end
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A_Gen=-2.00755+(0.16976*X_Gen)-(3.13336*(10"-3)*(X_Gen"2))+H1.97668*(10"-
5P%(X_Gen™3));

B Gen=321.128-(19.322*X Gen)+(3.74382*(10"-1)*(X_Gen"2))~(2.0637*(10"-3)*(X_Gen”3));
C Gen=-1015.07+(79.5387*X_Gen)-(2.358016*(X_Gen2))+(0.0303158*(X Gen"3))-
(1.40026*(10™-4)*(X_Gen™4));

D Gen=4.6811-(0.30378*X Gen}H(8.4485*(10-3)*(X_Gen™2))-(1.0477*(10"-
A)*(X_Gen )M (4.8*(107-7)*(X_Gen 4));
E_Gen=(-4.9*10"-3)}+(3.83*X_Gen*(10"-4))-(1.08*(10"-5)*(X_Gen*2))H+(1.315*(10-

(X Gen3))-(5.9*%(104-10)*(X_Gen*4));

h Gen=C Gent(D_Gen*((1.8*T_GenH32)}HE_Gen*((1.8*T_GenH-32)"2);

A Abs=-2.00755+(0.16976*X_Abs)-(3.13336*(10"-3)*(X_Abs"2)}+(1.97668*(10"-
SYH(X_Abs3));
B_Abs=321.128-(19.322*X_Abs)}+(3.74382*(10"-1)*(X_Abs"2))-(2.0637*(10"-3)*(X_Abs"3));
C_Abs=-1015.07+(79.5387*X_Abs)-(2.358016*(X_Abs"2)}+(0.0303158*(X_Abs*3))-
(1.40026*(10M-4)*(X_Abs"4));
D_Abs=4.6811-(0.30378*X_Abs)+(8.4485*(10-3)*(X_Abs"2))-(1.0477*(10"-
4)(X_Abs3))+(4.8*(10/-7)*(X_Abs"4));
E_Abs=(-4.9%10/-3)+(3.83*X_Abs*(10"-4))-(1.08*(10"-5)*(X_Abs 2))+(1.315*(10"-
7)*(X_Abs"3))-(5.9*(107-10)%(X_Abs*4));

h_Abs=C_Abs+(D Abs*((1.8*T Abs}32)H(E_Abs*((1.8*T_Abs)}+32)2);

for k=1:1:76
if T_Gen==Entropy(k,1)
h 3=Entropy(k,4);
P_3=Entropy(k,2);
elseif T Gen>Entropy(k,1)&T_ Gen<Entropy(k+1,1)
h_3=((T_Gen-Entropy(k,1))*(Entropy(k+1,4)-Entropy(k,4)))/(Entropy(k+1,1)-

Entropy(k,1)+Entropy(k,4);



P_3=((T_Gen-Entropy(k,1))*(Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k-+1,1)-
Entropy(k,1))+Entropy(k,2);

else

end

if T Evap= Entropy(k,1)
h_5=Entropy(k,4);
P_5=Entropy(k.2);
elseif T Evap>Entropy(k,1)&T Evap<Entropy(k+1,1)
h_5=((T_Evap-Entropy(k,1)*(Entropy(k+1,4)-Entropy(k,4}))/(Entropy(k+1,1)-
Entropy(k,1)HEntropy(k,4);
P_5=((T_Evap-Entropy(k,1)*(Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k+1,1)-
Entropy(k,1)HEntropy(k,2);

else

end
if T_Cond=— Entropy(k,1)
h 4=Entropy(k,3);
P 4=Entropy(k,2);
elseif T Cond>Entropy(k,1)&T Cond<Entropy(k+1,1)
h_4=((T_Cond-Entropy(k,1}}*(Entropy(k-+1,3)-Entropy(k,3))}/(Entropy(k+1,1)-
Entropy(k, 1))+Entropy(k,3);
P_4=((T_Cond-Entropy(k,1))*(Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k+1,1)-
Entropy(k, 1))+Entropy(k,2);

else

end

end

X 2=X Gen;
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X 1=X Abs;
h_1=h Abs;
h 2=h Gen;
m 5=Q Evap/(h 5-h 4}
m 4=m _5;
m 3=m 4,
m 2=m S/((X_2/X 1}-1));
m_1=m_2+m_5;
Q_Gen=(m_3*h 3)+(m_2*h 2)-(m 1*h 1);
Q Cond=(m 3*h 3)-(m_4*h 4);
Q_Abs=(m_2*h 2)+(m_S*h_5)-(m_1*h_1);
Q_Evap=(m_5*h_5)-(m_4*h_4);
COP_abs=Q Evap/Q_Gen;
J(1,T Cond)=T Cond;
J(2,T Cond)=COP_abs;
J(3,T Cond)=m_1;
=0;

end
for n=29:1:50

if (G<J(2,n))&(J(3,n)>0)

G=J(2n);
T Cond=X(1,n);
else
end

end

%END T_Cond

% StartT_2
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for T_2=25:1:100

a_Gen=((1.97668*10"-3)*T_Cond)-(7.960030296*10"-4);
b_Gen=-((3.13336*10"-3)*T_Cond)+0.1524515179;
c_Gen=(0.16976*T_Cond)-7.72503872;
d_Gen=125.0789441-T Gen-(2.00755*T_Cond);
G_Gen=[a_Genb Genc Gend Genl];
roots(G_Gen);
F_Gen=ans;
for k=1:1:3
if F_Gen(k)<71&F_Gen(k)>44
X Gen=F Genl(k);
else
end
end
a_Abs=((1.97668*10"-5)*T_Evap)-(7.960030296*10"-4),
b_Abs=-((3.13336*10"-3)*T_Evap)+0.1524515179;
c_Abs=(0.16976*T_Evap)-7.72503872;
d_Abs=125.0789441-T Abs-(2.00755*T_Evap);
G_Abs=[a_Absb_Absc_Absd Abs];
roots(G_Abs);
F_Abs=ans;
for k=1:1:3
if F_Abs(k)<71&F_Abs(k)>44
X _Abs=F Abs(k);
else
end

end
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A_Gen=-2.00755+(0.16976*X_Gen)-(3.13336*(10"-3)*(X_Gen"2))+(1.97668*(10"-
5)%(X_Gen"3));
B_Gen=321.128-(19.322*X_Gen)+(3.74382*(10*-1)*(X_Gen"2))-(2.0637*(10"-3)*(X_Gen"3));
C_Gen—=1015.07+(79.5387*X_Gen)-(2.358016*(X_Gen*2))+(0.0303158*(X_Gen"3))-
(1.40026*(10-4)X(X_Gen™4));

D_Gen=4.6811-(0.30378*X Gen)+(8.4485*(10"-3)*(X_Gen"2))-(1.0477*(10"-
4)*(X_Gen”3))+{4.8*(10~-7)*(X_Gen™4));

E Gen=(-4.9*10"-3)+(3.83*X_Gen*(10"-4)-(1.08*(10"-5)*(X_Gen"2))+(1.315*(10"-
TI*(X_Gen”3))-(5.9*(107-10)*(X_Gen"4));
h_Gen=C_Gen+HD_Gen*((L.8*T_Gen)}+32))+HE_Gen*((1.8*T_GenH32)*2);

A_Abs=-2.00755+(0.16976*X_Abs)-(3.13336%(107-3)*(X_Abs2))+(1.97668*(10"-
5)*%(X_Abs*3));
B_Abs=321.128-(19.322*X_Abs)}+(3.74382*(107-1)*(X_Abs"2))-(2.0637*(107-3)*(X_Abs"3)});
C_Abs=-1015.07+(79.5387%X_Abs)-(2.358016%(X_Abs"2))+(0.0303158*(X_Abs"3))-
(1.40026*(10"-4)*(X_Abs"4));
D_Abs=4.6811-(0.30378*X_Abs)+(8.4485*(10"-3)*(X_Abs*2))-(1.0477*(10"-

4P (X_Abs 3)H(4.3%(107-7)*(X_Abs™4));
E_Abs=(-4.9*10"-3)+(3.83*X_Abs*(107-4))-(1.08*(10"-5)*(X_Abs 2))+(1.315*(10"-
*(X_Abs*3))-(5.9%(107-10)*(X_Abs™));

h_Abs=C_Abs+(D Abs*((1.8%T_Abs)+32)}+(E_Abs*((1.8*T_Abs)+32)"2);

for k=1:1:76
if T _Gen== Entropy(k,1)
h_5=Entropyik,4};
P_5=Entropy(k,2);
elseif T _Gen>Entropy(k,1)&T_ Gen<Entropy(k+1,1)
h_5=((T_Gen-Entropy(k, 1 )*(Entropy(k+1,4)-Entropy(k,4)))/(Entropy(k-+1,1)-
Entropy(k, 1)+Entropy(k.4);



P_5=((T_Gen-Entropy(k,1))*(Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k+1,1)-
Entropy(k, 1))+Entropy(k,2);

else

end

if T Evap==Eniropy(k,1)
h_7=Entropy(k,4);
P_7=Entropy(k,2);
elseif T Evap>Entropy(k,1)&T Evap<Entropy(k+1,1)
h_7=((T_Evap-Entropy(k,1))*(Entropy(k+1,4)-Entropy(k,4)))/(Entropy(k+1,1)-
Entropy(k, 1))+Entropy(k,4);
P_7=((T_Evap-Entropy(k,1))*(Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k-+1,1)-
Entropy(k,1))+Entropy(k,2);

else

end
if T Cond= Entropy(k,1)
h_6=Entropy(k,3);
P_6=Entropy(k,2);
elseif T Cond>Entropy(k,1)&T Cond<Entropy(k+1,1)
h_6=((T_Cond-Entropy(k,1))*(Entropy(k+1,3)-Entropy(k,3)))/(Entropy(k+1,1)-
Entropy(k,1))+Entropy(k,3);
P_6=((T_Cond-Entropy(k,1))*(Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k+1,1)-
Entropy(k,1) #Entropy(k,2);

else

end
end

X_4=X_Gen;

&3
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X 3=X 4;
X_2=X_Abs;
X_1=X_2;

h 2=C_Abs+(D_Abs*((1.8*T 2)+32))+(E_Abs*((1.8%T 2)+32)°2);

h 1=h Abs;

h 3=h Gen;

m_7=Q Evap/(h 7-h 6);

m 6=m 7,

m 5=m 6;

m_d=m_TA(CL_4/X_1)-1));

m_3=m 4;

m_l=m 4+m 7,

m 2=m I;

Q_Gen=(m 5*h 5)+(m 3*h 3)-(m_2*h 2);
Q_Cond=(m_5*h_5)-(m_6*h_6);

Q _Heat=m_1*(h_2-h 1)

h 4=h 3-(Q Heat/m 3);

Q Abs=(m 4*h 4)H(m_7*h_7)-(m_1*h_1);
Q_Evap=(m_7*h_7)-(m_6*h_6);
COP_abs=Q_Evap/Q_Gen;

COP_ideal=((T_Evap+273.15)*(T_Gen-T_Abs))/((T_Gen+273.15)*(T_Abs-T_Evap));

Cp=4.19;

T hi=T Gen;

T ho=h 4/Cp;

T co=T 2;

T ¢i=T Abs;

EEF=(T co-T ¢i)/(T_hi-T ci);
E(1,T 2)=T 2;
E(Q,T_2)=EEF;

end
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for n=25:1:100
if E(2,n)>0.5&E(2,n)<0.6
T 2=E(1,n);
else
end

end

- a_QGen=((1.97668*10"-5)*T_Cond)~(7.960030296*10"-4);
b _Gen=-((3.13336*10"-3)*T Cond)}+0.1524515179;
¢_Gen=(0.16976*T Cond)-7.72503872;
d _Gen=125.0789441-T_Gen-(2.00755*T Cond);
G_Gen=[a Genb _Genc_Gend Gen];
roots(G_Gen);
¥ _Gen=ans;
for k=1:1:3
if F_Gen(k)<71&F Gen(k)>44
X_Gen=F_Gen(k);

else

end
% EndT 2

end

a_Abs=((1.97668*10"-5)*T_Evap)-(7.960030296*10"-4);
b _Abs=-((3.13336*10"-3)*T_Evap)+0.1524515179;
¢_Abs=(0.16976*T_ Evap)-7.72503872;
d_Abs=125.0789441-T Abs-(2.00755*T_Evap);
G_Abs=[a_Absb_Absc Absd_Abs];
roots(G_Abs);
F_Abs=ans;

a5
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for k=1:1:3
if F_Abs(k)<71&F_Abs(k)>44
X_Abs=F_Abs(k);
else
end

end

A Gen=-2.00755+0.16976*X_Gen)-(3.13336*(10"-3)*(X_Gen"2))+(1.97668*(10"-
5)*(X_Gen™3));

B _Gen=321.128-(19.322*X_Gen)+(3.74382*(10"-1)*(X_Gen"2))-(2.0637*(10"-3)*(X_Gen"3));
C_Gen=-1015.07+(79.5387*X_Gen)-(2.358016*(X_Gen”2))+(0.0303158*(X_Gen"3))-
(1.40026*(10"-4)*(X_Gen™4));
D_Gen=4.6811-(0.30378*X_Gen)+(8.4485*(10"-3)*(X_Gen"2))-(1.0477*(10"-

47 (X_Gen"3))+H4.8*(10M-7)(X_Gen4));
E_Gen=(-4.9%10"-3)+(3.83*X_Gen*(107-4))-(1.08*(10"-5)*(X_Gen"2)H(1.315*%(10"-
T*¥X_Gen”3))-(5.9%(107-10)*(X_Gen™4));

b_Gen=C_GenH(D_Gen*((1.8*T Gen)+32))+(E_Gen*((1.8*T Gen)}+32)2);

A Abs=-2.00755+(0.16976*X_Abs)-(3.13336*(10"-3)*(X_Abs"2))+(1.97668*(10"-
5)*(X_Abs*3));
B_Abs=321.128-(19.322*X_Abs)+(3.74382*(10"-1)*(X_Abs*2))-(2.0637*(107-3)*(X_Abs"3));
C_Abs=-1015.07+(79.5387*X_Abs)-(2.358016*(X_Abs"2))*+0.0303158*(X_Abs"3))-
(1.40026*(107-4)*(X_Abs™4));
D_Abs=4.6811-(0.30378*X_Abs)}+(8.4485*(10"-3)*(X_Abs"2))-(1.0477*(10"-
4)*(X_Abs*3))H4.8*(10~-7)*(X_Abs4));
E_Abs=(-4.9*%10"-3)+(3.83*X_Abs*(10"-4))-(1.08*(10"-5)*(X_Abs*2))H+(1.315*%(10"-
TI*(X_Abs™3))-(5.9%(107-10)*(X_Abs4));

h Abs=C_Abs+(D Abs*((1.8*T_Abs)}t32))HE_Abs*((1.8*T_Abs)}+32)"2);

for k=1:1:76



if T Gen==Entropy(k,1)
h_5=Entropy(k,4);
P_5=Entropy(k,2);
elseif T Gen>Entropy(k,1)&T Gen<Entropy(k+1,1)
h_5=((T_Gen-Entropy(k,1))*(Entropy(k+1,4)-Entropy(k,4)))/(Entropy(k+1,1)-
Entropy(k,1)+Entropy(k,4);
P _5=((T_Gen-Entropy(k,1)}*(Entropy(k+1,2)-Entropy(k,2)))Entropy(k+1,1)-
Entropy(k,1)HEntropy(k,2);

else

end

if T _Evap== Entropy(k,1)
h_7=Entropy(k,4);
P _7=Entropy(k,2);
elseif T_Evap>Entropy(k,1)&T Evap<Entropy(k+1,1)
h_7=((T_Evap-Entropy(k,1))*(Entropy(k+1,4)-Entropy(k,4)))(Entropy(k+1,1)-
Entropy(k,1))+Entropy(k.4);
¢ P_7=((T_Evap-Entropy(k,1))*(Entropy(k+1,2)-Entropy(k,2)))/(Entropy(k+1,1)-
Entropy(k,1)}+Entropy(k,2);

else

end

if T Cond== Entropy(k,1)
h_6=Entropy(k,3);
P_6=Entropy(k,2);

elseif T Cond>Entropy(k,1)&T Cond<Entropy(k+1,1)
h_6=((T_Cond-Entropy(k,1))*(Entropy(k+1,3)-Entropy(k,3)))/(Entropy(k+1,1)-

Entropy(k,1)}+Entropy(k,3);

<
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P_6=((T_Cond-Entropy(k,1))*(Entropy(k+1,2)-Entropy(k,2}})/(Entropy(k+1,1)-
Entropy(k,1))+Entropy(k,2);

else

end

end

X 4=X Gen;

X 3=X 4;

X 2=X_Abs;

X 1=X 2
h_2=C_Abs+(D_Abs*((1.8*T_2)+32))+(E_Abs*((1.8*T_2)+32)"2);
h 1=h Abs;

h 3=h Gen;

m_7=Q Evap/h_7-h _6);

m_6=m 7,

m_5=m 6;

m_4=m_7TA((X_4/X_1)-1))

m_3=m 4;

m_l=m 4+m 7;

m 2=m I,

Q _Gen=(m_5*h_5)+(m_3*h_3)-(m 2*h 2}
Q_Cond=(m_5*h_5)-(m_6*h_6);

Q Heat=m_1*(h_2-h 1}

h_4=h 3-(Q_Heat/m 3);
Q_Abs=(m_4*h_4)+m_7*h 7)-(m_1*h 1)
Q_Evap=(m_7*h_7)-(m_6*h_6);
COP_abs=Q Evap/Q Gen;
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DP=P 5-P 7;
Q=m_1/998;

W_Pump=Q*DP*1000;
m_cool=0.23952;

T 8=25;

Cp=4.19;
T_9=((Q_Abs){m_cool*Cp))+T 8;
T_10=((Q_Cond)/(m_cool*Cp))+T_9;

fprintf'T Cond = %.1f (C)\n',T_Cond);
forintf'T_Abs= %.1f (C)\w',T_Abs);
fprintf’'T Gen =%.1f (C)w',T_Gen);
fprintf('T_Evap= %.1f (C)w',T_Evap);
forintf('T_2 = %.1£(C)\',T_2);
formtf('T_10 = %.1f (C)\',T._10);
forintf’X_Gen = %.2f\n' X_Gen);
forintf("X_Abs = %.2f \n',X_Abs);
forintf(h_1 = %.2f (Tfkg)\')h_1);
forintf(h 2 = %.2f (kJ/kg)\n',h_2);
forintf(h_3 = %.2f (kJ/kg)\n',h_3);
forintf(h_4 = %.2f (kl/kg)\th_4);
forintfCh_5 = %.2f (/kg)\',h_5);
forintfCh_6 = %.2f (l/kg)\w'}h_6);
fprintfCh_7 = %.2f (kI/kg)\',h_7);
fprintf'm_1 = %.5e (kg/s)n',m_1);
fprintf’'m_2 = %.5¢ (kg/s)n';m_2);
fprintf’m_3 = %.5¢ (kg/s)n';m_3);
fprintf’m_4 = %.5¢ (kg/s)\n',m_4);
forintf'm_5 = %.5e (kg/s)\n';m_5);
forintf'm_6 = %.5¢ (kg/s)\n';m_6);



fprintf'm_7 = %.5e (kg/s)\n',m_7);
fprintf'm_cool = %.5e (kg/s)\n';m_cool);
fprintf’'Q_Gen = %.5f (kW)\n',Q_Gen);
fprintf'Q_Cond = %.5f (kW)\n',Q_Cond);
forintf(Q_Abs = %.5F (kWhn',Q_Abs);
fprintf('Q_Evap = %.5f (kW)\n",Q_Evap);
fprintf’'Q_Heat = %.5f (kW)\n',Q_Heat);
fprintf(COP_abs = %.5f\n',COP_abs);
fprintf'W_Pump= %.5f (W)\n',W_Pump);
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Tuf 4 Lﬁﬂlﬁﬂiﬂi IUNTY Performanee simulation of an absorption refrigeration system a7
aiffusids W TlsunsuGumenengu il 3.4 Taofi Tsunsuazuansmheaedilflums s
Mwesnanmaaey Fedldvzdesnsendeya 1dun
- mszmsRIRUIBUR Evaporator fiauviAy 0.3107 kW
- qunqAf Evaporator finwiifiu 4° C
matloumnzuanslugilii 3.5 91n1Tunfin Debug uAAABLI Run amgUd 3.4 Tusunswd

wwImsiseuiana

tempectuze(CIvn')z

0 v 20t G
E i Dty M

for T_Tonde29rl: 50

Por T_Gen=62:1:177
&_Gen={ (1.97650%104-5) *T_Cond) - | 7. S6003DZPE*10~~4) ;
b_Gens-[{3.13336+10~=1) *T_Cond}+0. 15245151792
¢_Gens (0. 169767T_Cond) -7.725030723
d_Gen-125. 0789441-T_Gen- (2. 00755%T_Cand)
G_Gens[4 _Gen b_Gen o_Gen d_fen);
roota(f_tien) :
F_Gen=ans:
gor k-=l71:3
if  F_Gen{X)<200sF_Genik)>a4
X_Cen=F_Gen (k) 2
else
end 5
end
&_Abss{(1l.976607104-5)*T_Evap) - (7. 960020226710+ -4) 3
b_Aba=~](3.13336°10*~3) *T_Tomp)+0. 15245151797
c_Aba= (0, LE976+T_Evap] -7.72503872:

d_Abo=)25.0705441-T Abs-[2.00755%T_ELvep) + k
G_Absa{a Abs b_Abs o_Aba d_Ahal; i
tooTs (G _Abs) ‘?
F_Abasann: ]
for EK=111:3 i
1L F_Abn(x)<2006F_Aba (k)>34
X_Aba-F_iba{k) 2 13
else e
snd M
end o
i fompZnnazeern IRGIRTE Ben) (A 1AAAKY L1041 % IX. Gand 2L+ 1. OFARAR 1 AA-S1 40X GanfAt) y o =
5 : L Gorg -
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Usaing Toolbox Path Cache, TYPe "help Toolbox_path _cache” Cor mOre info. %

To geT stnrred, sclect "AATLAB Help“” Prom che Help menu.

x> input Aclurion 13}
T_Evep = 4

input Q_Evep (k91

|u_Evap = 300

Workan#iib,L_CUment Dirbetany

[ Start | Wiiting for Input !
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4. waildanTilsunan

]

vnastszananavesTsunsyey ldmninndimszinalugld 3.6

¥> input Evaporator sclution tempertuze(C)
T Evap = 4
input Q_Evep (kW)

Ikl 8|double array 0 Ewap = 3017
(1T Cond = 20,0 (D)
. 8 double ereay (@7 aho= 25.0 (C)

SIS0 | 20000|double acrey |47 Gea = 62.0 ()]

Il 8| double array T Evep= 4.0 {C]
1 72- 0000
Ixt 8| double array T 10 = 25.6 {C)
e S1x50 | 20000]double arrey | % Gen = 53,01
Bijcop_ans Ix1 B|double array o4 % Abs = 50,03
Blooise |10 ol dowle array | - T 2+ (1A
- b2 = 4L.45 (k/kg)
%C_DJB Ikl 8| double array h_3 = 54,03 (kﬂfkgj
Ixl 8 double array h 4 = 36.54 (ki/kg)
Ix1 B| double array 2] [B-5 = 201905 (K0}
h 6 = 121,59 [kI/Rg)
bl 8|double acray | Sy 9 - 250870 (k1/ky)
Ixl 8| double array n | = 1.40056e-003 (kg/2)
1l 8| double array 2 = 1,40056e-003 {ku/s)
n 3= L.27418e-003 [ka/s)
100 1600| deuble arzay 0
1xl 8ldouble array | 1y 5 = 1,26307-004 [kg/s)
1xl 8l doubie arrey (n{in 6 = 1.26387e-004 (kg/s}
xl 3! duble atcay 17 = 1.26367e-004 (kg/s)
n cool = 2,39520e-001 (kg/s) :
Teud 2432)double array i YeemeoaR O %
Ixl 8| double array | |0 Cond = 0.31489 (kW)
1 24| double auray | {009 = 039423 (K9)
" 2l Q Evsp = 030170 (kW)
& SCEOY {1y Beat = 002866 (kW)
Ixi &) dotble arrey £07 sbs = 0,6684L
1x4 32 double acrey _Punp= 0.02969 (W)
Lx4 32| dovble array }a
e T Eovmra e | B .
O yotogacs | Coremprny ] e , : -

i 4 wadtldnnTalsuensy





